IN—=IFY) 2 ZFDHER

JE4E K4 EB P9 EHBPABIERL  1LAP 2LAP 3LAP 4ALAP LGk

1 K BEBE  |QIFLUT) [ 29:56 24:43 24:45 23:16 1:42:40
2 BH BF |49mLTF) |2 29:55 24:43 24:45 25:34 1:44:57
3 & ABY[E9RELLT) |3 28:48 25:28 25:13 27:30 1:46:59
4 ER Fi# [49mLLTF) |4 33:47 25:42 26:36 26:32 1:52:37
5 ER U4 [W9FLLT) |5 32:08 27:41 27:30 26:57 1:54:16
6 EHEZE |QFLUT) |6 32:20 27:11 27:54 28:12 1:55:37
7 EiZ E  |Q9mLLT) |7 32:18 27:02 28:18 30:35 1:58:13
8 KB FHE |60 ~695%) |1 33:35 27:44 28:38 29:07 1:59:04
9 BEBEF |49mLT) |8 36:11 30:02 30:45 30:34 2:07:32
10 A =z [(505%~59%%) [1 35:51 31:17 33:19 33:21 2:13:48
11 Al EEF[49mLLT) |9 39:31 32:34 34:40 34:46 2:21:31
12 SIE E£#H  |@9mLlTF)  [10 39:45 34:23 36:10 38:49 2:29:07
13 B FEF |[(70@~79%%) |1 43:22 37:42 40:34 42:12 2:43:50
DNF #EA =4 |(49mLLTF)  |DNF 33:57 30:43 1:04:40
DNF EHE (505% ~597%) |DNF 39:29 32:34 1:12:03




